Math 580 Quiz 2 Spring 2004 Neame ___________________
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1) Suppose that the conditional distribution of Y|P = p is the binomial(n, p) distri-
bution and that the random variable P has a beta(a = 4, f = 6) distribution.
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._Jb) Find Var(Y).
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M 2) Suppose that X has pdf
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77,3 for z € X and for —oo0 < @ < co where A(f) is some positive function of  and v(z) is

some nonnegative function of z. Find the moment generating function of X using the
kernel method. Your final answer should be written in terms of A, and ¢.
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6 3) Suppose that X ~ normal N(u =1,02=9). Let W = 5X + 25.

Find EW and Var W.
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